Variables used in the regressions
Terminology of variables as in .xls file 

Used EViews and stata. The stata output for the 3SLS regressions is much easier to read. 
EViews is sensitive to the number of decimals that are copied from .xls.

Regressions: first variable is the dependent variable; the subsequent variables are independent variables (all regressions contain a constant)

Table 2 (in the paper) 

Regressions are fixed-effects regressions using provincial dummies

1st col.: yield2ayln year lnirricult fertayln lnsmalltractor labor2ayln precay prec2y cvprecay
*
or, with practically identical results … prec prec2 cvprec
*
it seems AY switches between two methods to calculate the average monthly rainfall: (i) take annual value and divide by 12, (ii) take average of 12 monthly values;

the two methods do not always yield the same results, be that due to rounding or to data errors in the original data; I use the first method, see appendix on regr. analysis
2nd: labor2ayln w3timeay

3rd: yield2ayln year lnirricult fertayln lnsmalltractor labor2ayln w3timeay

4th: yield2ayln year lnirricult fertayln lnsmalltractor labor2ayln prec prec2 cvprec temp temp2 cvtemp sun sun2 cvsun 

[-> use coefficients of last 9 variables to construct w9time]
5th: labor2ayln w9time

6th: yield2ayln year lnirricult fertayln lnsmalltractor labor2ayln w9time

3SLS: in stata, need to do provincial dummies manually (g1, g2, … g29; drop g1, use constant); command line: “generate provincenu, gen(g)” -> provinces appear in data editor as g1… g29; because lnsricegrain has no values for Qinghai, g27 drops out automatically when included in a regression in stata
1st eqn: labor2ayln year lnirricult fertayln lnsmalltractor w9time yield2ayln lnfruitgrain lnprimlabpr lnsoeinv lnagrlabor g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g27 g28 g29 [g are provincial dummies]
2nd eqn: yield2ayln year lnirricult fertayln lnsmalltractor labor2ayln w9time lnsricegrain lnc2fruit6grain g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g27 g28 g29

in stata: reg3 (yield2ayln = year lnirricult fertayln lnsmalltractor labor2ayln w9time lnsricegrain lnc2fruit6grain g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g27 g28 g29) (labor2ayln = year lnirricult fertayln lnsmalltractor yield2ayln w9time lnfruitgrain lnprimlabpr lnsoeinv lnagrlabor g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g27 g28 g29)

Table 3 variables
dlabor2ayln dyield2ayln dlnirricult dfertayln dlnsmalltr weather3ay year w3timeay

Final regression reported in text in the paper

Need to generate provincial dummies * time:

in stata, use create new variable function and define g1time=g1*time, for all g…

1. 
Regress

yield2ayln [or labor2ayln as dep. variable – then drop labor2ayln from independent variables] lnirricult fertayln lnsmalltractor labor2ayln g1 g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g27 g28 g29 g1time g2time g3time g4time g5time g6time g7time g8time g9time g10time g11time g12time g13time g14time g15time g16time g17time g18time g19time g20time g21time g22time g23time g24time g25time g26time g27time g28time g29time [suppress “constant” (intercept)
2.
Save the 29 coefficients g1time … g29time, and regress against w9time
Appendix on regression analysis

Table 1

Regressions are fixed-effects regressions using provincial dummies

1st col.: yieldayln year irriayln fertayln powerayln laborayln precay prec2ay cvprecay

2nd: laborayln year wtimeay

3rd: yieldayln year irriayln fertayln powerayln laborayln wtimeay

4th: yield2ayln year lnirricult fertayln lnsmalltractor labor2ayln precay prec2ay cvprecay
5th: labor2ayln w3timeay

6th: yield2ayln year lnirricult fertayln lnsmalltractor labor2ayln w3timeay

7th: labor2ayln year lnirricult fertayln lnsmalltractor w9time lnsricegrain lnc2fruit6grain

8th: yield2ayln year lnirricult fertayln lnsmalltractor labor2ayln w9time lnsricegrain lnc2fruit6grain

Table 2 (3SLS)
1st col.: labor2ayln year lnirricult fertayln lnsmalltractor yield2ayln w9time lnfruitgrain lnprimlabpr lnsoeinv lnagrlabor lnrelinc lnmeatgrain lnfarmgov lnruralempl  g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g27 g28 g29
2nd: yield2ayln year lnirricult fertayln lnsmalltractor labor2ayln w9time  lnsricegrain lnscorngrain lnstubersgrain lnc2fruit6grain g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g27 g28 g29
together in stata: reg3 (yield2ayln = year lnirricult fertayln lnsmalltractor labor2ayln w9time lnsricegrain lnscorngrain lnstubersgrain lnc2fruit6grain g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g27 g28 g29) (labor2ayln = year lnirricult fertayln lnsmalltractor yield2ayln w9time lnfruitgrain lnprimlabpr lnsoeinv lnagrlabor lnrelinc lnmeatgrain lnfarmgov lnruralempl g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g27 g28 g29)
3rd: labor2ayln year lnirricult fertayln lnsmalltractor yield2ayln w9time lnfruitgrain lnprimlabpr lnsoeinv lnagrlabor lnfarmgov lnruralempl  g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g27 g28 g29
4th: yield2ayln year lnirricult fertayln lnsmalltractor labor2ayln w9time  lnsricegrain lnscorngrain lnstubersgrain lnc2fruit6grain g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g27 g28 g29
together in stata: reg3 (yield2ayln = year lnirricult fertayln lnsmalltractor labor2ayln w9time lnsricegrain lnscorngrain lnstubersgrain lnc2fruit6grain g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g27 g28 g29) (labor2ayln = year lnirricult fertayln lnsmalltractor yield2ayln w9time lnfruitgrain lnprimlabpr lnsoeinv lnagrlabor lnfarmgov lnruralempl g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g27 g28 g29)
5th: labor2ayln year lnirricult fertayln lnsmalltractor yield2ayln w9time lnfruitgrain lnprimlabpr lnsoeinv lnagrlabor g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g27 g28 g29
6th: yield2ayln year lnirricult fertayln lnsmalltractor labor2ayln w9time lnsricegrain g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g27 g28 g29
together in stata: reg3 (yield2ayln = year lnirricult fertayln lnsmalltractor labor2ayln w9time lnsricegrain g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g27 g28 g29) (labor2ayln = year  lnirricult fertayln lnsmalltractor yield2ayln w9time lnfruitgrain lnprimlabpr lnsoeinv lnagrlabor g2 g3 g4  g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g27 g28 g29)

7th: labor2ayln year lnirricult fertayln lnsmalltractor yield2ayln w9time lnfruitgrain lnagrlabor g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g27 g28 g29
8th: yield2ayln year lnirricult fertayln lnsmalltractor labor2ayln w9time lnsricegrain lnc2fruit6grain g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g27 g28 g29

together in stata: reg3 (yield2ayln = year lnirricult fertayln lnsmalltractor labor2ayln w9time lnsricegrain lnc2fruit6grain g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g27 g28 g29) (labor2ayln = year lnirricult fertayln lnsmalltractor yield2ayln w9time lnfruitgrain lnagrlabor g2 g3 g4 g5 g6  g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g27 g28 g29)
Table 3 (3SLS)
1st col.: labor2ayln year lnirricult fertayln lnsmalltractor yield2ayln w9time lnfruitgrain g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g27 g28 g29
2nd: yield2ayln year lnirricult fertayln lnsmalltractor labor2ayln w9time lnsricegrain lnc2fruit6grain g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g27 g28 g29
together in stata: reg3 (yield2ayln = year lnirricult fertayln lnsmalltractor labor2ayln w9time lnsricegrain g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g28 g29) (labor2ayln = year lnirricult fertayln lnsmalltractor yield2ayln w9time lnfruitgrain g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g28 g29)

3rd: labor2ayln year year lnirricult fertayln lnsmalltractor yield2ayln w9time lnsoeinv85time lnfruitgrain lnprimlabpr lnsoeinv lnagrlabor g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g27 g28 g29
4th: yield2ayln year lnirricult fertayln lnsmalltractor labor2ayln w9time lnsoeinv85time  lnsricegrain lnc2fruit6grain g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g27 g28 g29

together in stata: reg3 (yield2ayln = year lnirricult fertayln lnsmalltractor labor2ayln w9time soeinv85time lnsricegrain lnc2fruit6grain g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g28 g29) (labor2ayln = year lnirricult fertayln lnsmalltractor yield2ayln w9time soeinv85time lnfruitgrain lnprimlabpr lnsoeinv lnagrlabor g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g28 g29)
5th: labor2ayln year lnirricult fertayln lnsmalltractor yield2ayln w9time sowncultavetime lnfruitgrain lnprimlabpr lnsoeinv lnagrlabor g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g27 g28 g29
6th: yield2ayln year lnirricult fertayln lnsmalltractor labor2ayln w9time sowncultavetime lnsricegrain lnc2fruit6grain g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g27 g28 g29
together in stata: reg3 (yield2ayln = year lnirricult fertayln lnsmalltractor labor2ayln w9time sowncultavetime lnsricegrain lnc2fruit6grain g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g28 g29) (labor2ayln = year lnirricult fertayln lnsmalltractor yield2ayln w9time sowncultavetime lnfruitgrain lnprimlabpr lnsoeinv lnagrlabor g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g28 g29) 
7th: labor2ayln year lnirricult fertayln lnsmalltractor yield2ayln w9time soeinv85time sowncultavetime lnfruitgrain lnprimlabpr lnsoeinv lnagrlabor g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g27 g28 g29
8th: yield2ayln year lnirricult fertayln lnsmalltractor labor2ayln w9time soeinv85time sowncultavetime lnsricegrain lnc2fruit6grain g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g27 g28 g29
together in stata: reg3 (yield2ayln = year lnirricult fertayln lnsmalltractor labor2ayln w9time soeinv85time sowncultavetime lnsricegrain lnc2fruit6grain g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g28 g29) (labor2ayln = year lnirricult fertayln lnsmalltractor yield2ayln w9time soeinv85time sowncultavetime lnfruitgrain lnprimlabpr lnsoeinv lnagrlabor g2 g3 g4 g5 g6 g7 g8 g9 g10 g11 g12 g13 g14 g15 g16 g17 g18 g19 g20 g21 g22 g23 g24 g25 g26 g28 g29) 
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